LOTE #65

O > CUADRO DE CONSTRUCCION
LADO COORDENADAS
=T RUMBO DISTANCIA | v = X
A 562.2515 3,295.3663
A | B S 40301034 E 15.652 B 550.3505 3,305.5317
B | S 5249'39.65° W 76.026 c 5044146 3.244.9526
c | E N 11202447 W 1.768 E 506.1480 3,244.6050
CENTRO DE CURVA D 506.0757 3.248.7400
DELTA = 24'41°3.747]  LONG. CURVA = 1[782
RADIO = 4.136 SUB.TAN.= §.905
E | 6 N 305832.56" E 5.081 G 510.5046 3,247.2202
CENTRO DE CURVA F 506.1480 3.249.5413
DELTA = 61'57'5.13]  LONG. CURVA = 5[337
mw RADIO = 4.936 SUB.TAN.= 3.963
G | 1 N 46195317 E 6.384 1 514.9129 3,251.8383
CENTRO DE CURVA H 527.9577 3.234.9730
DELTA = 1713'15.56" LONG. CURVA = 6408
RADIO = 21.321 SUB.TAN.= 3.229
1| N 29°06'37.61 E 6.384 K 520.4308 3,254.9442
CENTRO DE CURVA J 528.0019 3,234.8936
DELTA = 178'53.3070  LONG. CURVA = 6l408
RADIO = 21.411 SUB.TAN.= 3.228
K | M N 1108'31.83 W 6.968 M 527.3279 3,253.5976
CENTRO DE CURVA L 5227001 3.248.1772
DELTA = 5835'4.13]  LONG. CURVA = 7p81
RADIO = 7.121 SUB.TAN.= $.995
M| N N 6035'40.34 E 12.760 N 533.5031 3,264.7141
N | P N O714'41.0° W 3.461 P 537.0261 3.264.2777
CENTRO DE CURVA 0 535.1844 3.263.5115
DELTA = 120°20°11.§0° LONG. CURVA = 4189
RADIO = 1.995 SUB.TAN.= 3.478
P | R N 052134.20 W 2.156 R 539.1731 3,264.0762
CENTRO DE CURVA Q 538.1665 3,264.8795
DELTA = 11335'33.01" LONG. CURVA = 2555
RADIO = 1.289 SUB.TAN.= {.969
R | T N 7353'37.65 E 6.002 T 5408381 3,260.8424
CENTRO DE CURVA s 520.7781 32725113
DELTA = 17:3'19.57]  LONG. CURVA = 6/024
RADIO = 20.237 SUBTAN.= 3.034
T | v N 1544'09.07 E 5.702 v 546.3268 3,271.3889
CENTRO DE CURVA v 544.0269 3,269.0382
DELTA = 12013'12.05" LONG. CURVA = 61300
RADIO = 3.289 SUB.TAN.= §.722
v | x N 244119.24" E 1.888 X 548.0419 32721773
CENTRO DE CURVA w 547.0398 3,272,0976
DELTA = 139°43'12.01" LONG. CURVA = 20451
RADIO = 1.005 SUB.TAN.= 2.741
x | z N 66572417 E 8.065 z 551.1986 3,279.5986
CENTRO DE CURVA Y 556.7204 3.272.8677
DELTA = 5511°2.15]  LONG. CURVA = 8[385
RADIO = B.706 SUBTAN.= 4.550
z | 8 N 6440'56.5¢ E 4.548 B 553.1434 3,283.7098
CENTRO DE CURVA A 547.8260 3.283.7098
DELTA = 5038'6.917  LONG. CURVA = 4f598
RADIO = 5.317 SUB.TAN.= 2.516
B | D N 682324.04 E 9.265 b 556.5658 3,292.3237
CENTRO DE CURVA c 562.1021 3.285.1438
DELTA = 6124'35.84" LONG. CURVA = 8724
RADIO = 9.073 SUB.TAN.= $.388
D | A N 2806'36.47 E 6.457 A 562.2515 3,295.3663
SUPERFICIE = 879.637 m2




